

Do Now:

Convert the following expressions between exponential & logarithmic form.

$$1) 7^2 = 49 \quad \longrightarrow \quad \log_7 49 = 2$$

$$2) 3 = \log_x 64 \quad \longrightarrow \quad x^3 = 64$$

$$3) -2 = \log_3 1/9 \quad \longrightarrow \quad 3^{-2} = \frac{1}{9}$$

Oct 23-9:50 PM

Oct 24-8:17 AM

Working with Logarithms

CASE 1	$\log_x 343 = 3$	$x^3 = 343$ $(x^3)^{\frac{1}{3}} = (343)^{\frac{1}{3}}$ $x^{\frac{3}{3}} = \sqrt[3]{343}$ $x = 7$	Variable in base * Raise both sides of equation to reciprocal power
CASE 2	$\log_2 16 = x$	$2^x = 16$ $2^x = 2^4$ $x = 4$	Variable is power * find common base set exponents equal.
CASE 3	$\log_7 k = 2$	$7^2 = k$ $49 = k$ $7 = 49$	Variable is answer evaluate!

Oct 19-9:44 AM

Solve for the unknown.

1. $\log_6 216 = s$	2. $\log_k 1/1296 = -4$ $k^{-4} = \frac{1}{1296}$ $(k^{-4})^{-\frac{1}{4}} = (\frac{1}{1296})^{-\frac{1}{4}}$ $k = \sqrt[4]{1296} = 6$	3. $\log_8 h = \frac{1}{4}$	
4. $\log_{10} e = -3$	5. $\log_{(1/2)} 8 = r$	6. $\log_d 8 = \frac{3}{2}$	
7. $\log_{(1/4)} 64 = a$	8. $\log_{27} x = \frac{2}{3}$ $27^{\frac{2}{3}} = x$ $\sqrt[3]{27^2} = x$ $3^2 = x$ $9 = x$	9. $\log_{(1/2)} \left[\frac{1}{16} \right] = h$ $\frac{1}{2^h} = \frac{1}{16}$ $2^{-h} = (2^{-4})$ $h = 4$	$\frac{1}{2^h} = \frac{1}{16}$ $2^{-h} = \frac{1}{2^4}$ $2^{-h} = 2^{-4}$ $h = 4$

Oct 19-9:45 AM

$$\begin{array}{c} \textcircled{1} \\ 3 + 5 = \textcircled{2} \\ 8 \end{array}$$

Oct 24-2:26 PM

Evaluate each expression:

$\log_4 64$

$\log_6 216$

$\log_4 16$

$\log_3 \frac{1}{243}$

$\log_5 125$

$\log_2 4$

$\log_{343} 7$

$\log_2 16$

Oct 19-9:45 AM

Properties of Logs

Convert to logarithmic form:

$$b^x = A$$

$$\log_b A = x$$

$$b^y = B$$

$$\log_b B = y$$

Product Rule

Take the log:

$$b^x b^y = AB$$

$$b^{x+y} = AB$$

$$\log_b AB = X + Y$$

$$\log_b AB = \log_b A + \log_b B \quad **$$

Oct 19-9:46 AM

Quotient Rule



$$\log_b \frac{A}{B} = \log_b A - \log_b B$$

Power Rule

$$\log_b a^c = c \cdot \log_b a$$

EX: $\log_2 4^3 = 3 \cdot \log_2 4$

EX: 2 $\log_{10} x^2 = 2y \cdot \log_{10} x$

EX: 3 $\log_2 xy = \log_2 x + \log_2 y$

EX: 4 $\log_2 \frac{x}{y} = \log_2 x - \log_2 y \quad \checkmark$

Example 5 $\log_2 (AB)^2 = 2(\log_2 AB)$
 \downarrow
 $(\log_2 A + \log_2 B)^2$
 \uparrow
 $2(\log_2 A + \log_2 B) = 2\log_2 A + 2\log_2 B$

Oct 19-9:50 AM

pg 494 (25-35) odd

(25)

Solve for x

$$\log_2 x = 4$$

$$2^4 = x$$

(27)

$$\log_3 x = -2$$

(29)

$$\log_{81} x = \frac{1}{3}$$

(31)

$$\log_6 x = -2$$

Oct 24-8:53 AM

Oct 21-1:02 PM